Ratio to ALEPH

1/ do/din(T )

=
o

0.5

91 GeV ee y*/Z (Hadronic
L I L L LI L I L B BN L=
= LaT E
— o Ty -
= ,ﬁi v _
B e ¥y _
= 5"‘ﬂ ij =
— & i -
| ’.,.0 al % _|
= "" jal *\ —
= s . =
— T ’-‘}‘ =
| '!" ' om |
SN ™3
¢ . =
- m ALEPH b S
. --f3-- Herwig 7.2.0 default _
= ¢ Sherpa 1.2.2p default —
§| Ly |y 1y | | [ | [ |0 [ |, |E
: T T T T . | T T I.’ T T T T T | T T T T | T T :
- y-i , =
- " it A -
- y’ ]
[ |I| El\ ‘ ]
— II —]
- : E —

N
B b
- g
L4 1 1 .|FT'-|. | 1 1 1 1

Rivet 3.1.0, = 5.7M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


